N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

n n n
Q o Q
2 = 2
£ ! =
@ Q ©
o o o
g 2 Si0?
X 2] =
8102 5 8
=10 S L =
o
10
10
1
oV - -
I T [
o o [
A A A A AR ARA AR ARASGAARARRACEOARAAE e s T i i s s e ' i 1_— y
0.95 ! ! ! 0.95 i ] ] 0.95L A ! A A A
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
|2 %] 12
o <@ o
[ N S A S o [ N F S S
° = gl
e 8 2
S oo D5 TSNS O 5 0 S i D R SO
1) = %)
c Q c
8 g 8
[ LR LR S A . . R D = [0} - - g o ol EEEEE T EEEEEEE LR
o @
10
----- e - -+
__________ 1
* * orvor ot *
= F T ]
: : x f : g g g : : ] X [ ]
EECCRY | EEESEEEEE | SEEEELEREEE © . . . . [ TR il SEREL K i R R PEE R
A 1 1 0.05L i i i i i i i 0.95L i i i i 1
0 10 20 30 -20 -15 -10 -5 0 5 10 15 20 =10 -5 0 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


